THE CIRCUS SHOW
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   BRACELET                           EARRINGS                          WATCH                           BADGE (insignia, pin)                                                                           
GRAMMAR


 *She’s wearing a pink skirt = Neskak gona arrosa darama

 *He isn´t wearing a hat =  Mutilak ez darama kapela
 *Is Janire wearing a dress?=Badarama Janirek soineko bat?

-SENTENCES: ((ESALDIAK)
	AFFIRMATIVE
	NEGATIVE
	QUESTION

	Lucy’s wearing a hat.     

(Lucyk kapela darama)
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	Rob isn´t wearing jacket.
(Robek ez darama jakarik)

X


	Is Ane wearing a belt?  
(Badarama Anek gerrikorik?)
· Yes, she is  (bai, badarama)
· No, she isn’t (ez, ez darama)





       He’s = He is





       She’s = She is








   








isn’t = is not





I’m wearing a hat  �


I’m not wearing a hat X











